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., r.

Instructions to the, fudidat$
1) All questlotts QwcompulsorY.
2) niSffi n the right indicate full marks.

QI) Atte*frt'a*y Uigtrt of the following (Out of TEN): .r'"
a) Oefindi*ot.testing. ,..-';""-

b) Bifine code coverage with formula. *,* .,..n,'-'
.+'1 

.'if 
:'::

c) Enlist any two bug tracking tool. #t*1,."u .,. ,

d) Explaintestplan. *[$:ii"= i""'
u*"q\ ,'.,' :'u

. e) Enlist any two types of 1o,g3fftin6. s

0 Enlist any two objective ofwriting'test cases.
lr - ,. 

"'"'

g) What are functionaldefucts?''
\*,.,t \,on

h) Enlist any two types of p,Afects.
,,.;. 

",,

r) What is automation te+tiflg?

[8x1=8]

.r"t,
..ri.' .i

a

^ .,/ .j) Silk test is most pepiilar testing tool specifically d*.:1gq for rriyession

and functionality testing. State true or false. ,,#,J l-:,-
',*a*,^J *"' -

Q2) Attempt any Four of following (out of Five).' .-#,;1" .,. ": 
"ta x 2 : 8l

a) Enlist any fwo feature ofbugzilla. ,t*)- ']'

, "*&'' t,'.

b) Write any two advantages of branch coverygd-. 
, -'-'1' 

'r"' 
.i'r'o

c) Whal is test summary rePort? . "
t. :" ,i;

d) Write any two causes of defect. '*:h*;s 
i - ,

e) Write any two limitations of manual testing'"

P.T.O
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Q3) Lttempt any Two of following (Out of Three):

a) What are entry and exit criteria?
.r,,i,

b) Explain path coverage testinEr,,, ''
. ':'c) Explain design ffits wi,fffits different types.

, tl

Q4) Attempt any Twtf;{.,Y6ttgvdinS (Out of Three):
j.,:.r. lr.-r,i 

;,x, 
'.:

a) Write test p-14'fu fo{..}k'ftnctionality of Flipkart login page.
'.?- t

b) Explain''$tlffiq4$.i, tool.
..r.i"4{ ,:,.,,,i,.

c) Conei.dpr fbllowing code- -- '"

-;
ln6urr (int xjint y) {

[2 x 4:8]

12 x 4:81

t.'..i.ir"
Sub-u.:yi

If("sub>0)

Print("Positive")

else

Print("Negative")

II

|, ,"' lli "\",tu. {.-"{':
l-"4 :+' i; ': -

tt,,,.. nt

1,,. -.i .,,, '":l

- 
"-:;::"u

,#?

'- 
t!u'u-,-,

-.."".;;,*

'$1i",,..'

Test case 1: x: 10,;Y +'o3 
"",i"

%*rr; ,,,..,...,,

Test case 2: x: 10, y :_l '

-:
Consider the above {ept cases and find the
coverage.

?,..::

Q5) Attempt any One of following (Out of Two):

b) What are unit testing and load testing. ,

,...,,...= -x )( l( .,*"'
1"

irr":r

)

1";'= :

percentage of sta$el-Tlent
:+, J

, ..!

'u"**,, 
" 

ir.tt "
!!il[ 1r' '++*..

,-=' .,fl"x3:3]
,x{ l;,.,. ' 1^,r' ,,

"',, '\
"lu,.r ', 'tl|;
. ,. ".j|.i:*,
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Q3) Attempt any Two of following (Out of Three):

a) What are entry and exit criteria?
',,.,t'b) Explain path coverage testing.

c) Explain design 
.{aSlr 

wit6:its different types.

Q4) Attempt any fwo+#, tgwhhg (Out of Three):
,.,*loul- i 

t,'

a) Write test pla.h,folllieftnctionalify of Flipkart login page.
j ,, .1.

b) Explain''ffftu4p$?tool.

c) Con$id#r foliowing code-

IIIW* (int+lint V) { ,. ,

J.

Sub-qy;

Ifteub>O)

Print("Positive")

else

Print("Negative")

I
J

.J

\,.

>(xl(
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t-'"1, ::'
.j.:r.r:ii. l

1", rraq: 
__ 

/\, .

l:"' \""'; 
"'-,".1, 

. ;" Li

.
1l'

i@''",,,, ,g'
i' = 

"-"7;"''i."
Test case 1: x : 10,,,y *i03

.\
Test case 2'. x: 10, y : J$-:"

i

Consider the above serst cases and find the percentage of statefrent
ge. k*]-

:-
Q5) Attempt any One of following (Out of Two): ;""i*4; #l * 3 : 3l

a) Explain severity defect with its Epes. , #ll't. =r.i-'n? ,..:,;:::"'

b) What are unit testing and load testing. ''ii:*," ,.=i "

1.

12 x 4:81

[2 x 4:8]

i'

ti*--,1


